	1. Write the equation of a line that has a slope of -½ and passes through the point (4,0). 
	2. Calculate the x and y intercept of the line 
4x – 7y = 28

	3. Write the equation of a line that is perpendicular to the line below.


                                               y
         
                                                       (4, 3)
                                               ( 2, 2)

                                                                                x





	4. Write the equation of a line that is parallel to the line below.


                                               y
         
                                                       (8, 6)
                                               ( 3, 4)

                                                                                x






	5. Calculate the slope and y intercept of the line
5x + 4y = 12
	6. Write the equation of a line that is parallel to the line        y = -1/3x + 2 and that passes through the point (3, 4).

	7.  Write the equation of a line that is perpendicular to the line y = -1/3x + 2 and that passes through the point (3, 4).
	8. If Line A passes through the points (-2, 4) and  (5, k), and is parallel to the graph of            y = 3x + 4, what is the value of k?

	9. Write the equation of a line that is parallel to the graph of y = 4
	10. Write the equation of a line that is perpendicular to the graph of x = 3

	11. Is the point (12, 21) on the line 2x + 3y = 85? Explain your answer.
	12. Graph a line that is parallel to the line 2x + 7y = 14.
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1. Write the equation of a fine:
that has a slope of % and
passes through the point
(4,0).

2. Calculate the xand y
intercept of the line
ax-7y=28

3. Write the equation of a e thats
perpendicuar o th ine blow.

4. Wiie the equaton of a e tat s
parale o the e below.

5. Calculate the slope and y
intercept of the line
Scray=12

6. Wiite the equation of a fine:
thatis parallel to the line
y=-1/3x+ 2 and that passes
through the point (3, 4).

7. Wite the equation of a ine
thatis perpendicular to the
line y = 1/3x + 2 and that
passes through the point (3,
a)

8. f Line A passes through the
points (-2,4) and (5, k), and is
parallel to the graph of
y=3x+4, whatis the value of
@

5. Wiite the equation of a fine
thatis parallel to the graph of

0. Write the equation of a ine
thatis perpendicular to the

y=a graph of x=3
1. s the point (12, 21) onthe |12. Graph a ine that s parallel
line 2x + 3y = 857 Explain your | to the line 2x+ 7y = 14,

answer.




